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Q1 Choose Lhe correct option Lo, A,B,C, and D,
L The kinetic energy of a:decelerating 0bJEct IS o mmmsmmmmimion
® }ncrcaSeF X @' ‘ Rcm'.?InsL't):nswnt ® Zero ® Decreases
ii. Dgu‘l(, rough surfaces.are gcncrn]lQ LT3 T1 3 [+ P .
® Radiation | @ Reflection © Convection ® Conduction
HL 3297 is equal L0 weriinriensonenanno o |
® 1000C ® 3osec - Y 0oc ®© 320C
v, Ba:omelcnsused L0 MEASUe wrvviuraeee PR .
® D:.nsily ® ::.ltlcl;ts)z?lcteric o @ quorpl-és/sgf'zz: ® NonmalpFessure
\2 Youn(,sModulusofRubbu L Snssess e N2 0 e o
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® 1 Pascal ® 1 Joule . 1watt ® 1'.Newt0n
vii.  When centripetal force ceases o act, then lheccntnfugalforccbucomcs ......... e sse e anins
' ® Maxunum Minimum @ Zeru ® No effect
vill,  Massof the carth is approxinialely oo, K- : : L
o Odxio® - ® leOH ‘ ® 123x10% 5 G4xl0¥
ix, /\nli-cl@ckwisc tm.'quulsrmkun RN SN o ‘ . “
l"usfll.ivu , : @ Paratlel C® “Zero - @ Negative
X Massofagirlis ... T on carth I her mass on nwon is 60Kg. -
® GOKg ® 600Kg @ 501‘;,— ® 55Kg
%, The ralcqullanLeorveluutylsLdlled................‘ ................... o . o,
- Acceleration @ Dlsplawment - ® Distance ® Speed
xi-i. Candela is the .1 unit of
® Tcmpe_rature Time ® Amount of ® Luminous intensity_
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. . (Fresh / New Course}
Time Allowed; 2:40 Hrs Section-B & C . Total Marks: 53 -
“Seclion - B” ' Marks: 32

Q.2 Write short answer of any EIGHT of the fullowlng parts. Each part carries equal marks.
{i).  Whywe feel cool after per: splration?
{il)  Wrlte short note on Greenhouse effect. :
- (i) Define: Astrophysics, Geophysics, Atomic Physics and Nuclear physics - .

. : 1 . NP
(W)  Isthe kinematics equation §' = v +-2~ at’, true if acceleration s not constant?

“{v)  Differentiate between mass and welght.
(V)  Moon is attracted by the earth. Why it does not fall on earth?
(Vi)  Explain why door handles are not put near hinges?
(vii} Whattype of energy conversion can be observed in water dams?
{lx)  State Pascal's principle.
(X} llow woolen sweaters keep us warmer in winter? '
{6)  What is the effect of high specific heat of water on the cllmate of coastal area?

“Section - C” Marks; 21

NOTE: Atlemptany THREE questions, Each question carries ¢qual marks.
Q.3 (a) State and explain Archimedes principle.
(b] © Acarof Y00Kg accelerates uniforinly from restto a spced of30m/sec in 15 seconds. What is 1ts power?
Q. 4(a) Derlve the formula for the orbital speed of an artificial satellite.
(b) Abody of B0g attached by a string whirls in a horizontal circle of radius 1im. Find the speed of stone
ifthe tension In the string is 50N, .
2.5 (a) Define inotlon, What are its types?
) (b)  Abvick falls fron a helght of 18m. How much time it will take to reach the gl ound?
Qo6(@). Dcﬁne moment of a force. On'what factors does It depends? -
“ (b) A 250¢m? piece of lead: is at 10°C Ifitis heated toa tempcrature of 50°C Find the change in volume
of the lead,



